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�g.f (x) = x′Axz�IO.⇔ é¡Ý

AÜÓC��é�Ý
"

½½½nnn8.1-1: é¡Ý
7ÜÓué�Ý
"
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�g.z�IO.Øäk��5�£~K¤

ef (x) = x′Ax�©Oz�IO.µ

f (x)
By
= b1y

2
1 + · · · + bpy

2
p − · · · − bry

2
r

f (x)
Cz
= c1z

2
1 + · · · + ckz

2
k − · · · − crz

2
r

Ù¥bi > 0 ci > 0, r = r(A).
¯K:p, k�m�'X´�o?
��¯KµÜÓC�e�ØCþ´�o?
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...555½½½nnn(Inertial theory):
�¢�g.f (x) = x′Ax�z�ü�IO
.µ

c1y
2
1 + · · · + cpy

2
p − · · · cry

2
r

d1z
2
1 + · · · + dkz

2
k − · · · − drz

2
r

Ù¥ci > 0 di > 0"K7kp = k.
Note: ØÓIO.��Ó:£ÜÓØCþ¤�

5�IO.:

y2
1 + · · · + y2

p − y2
p+1 · · · − y2

r
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½½½ÂÂÂ8.3-1µ�f (x) = x′Ax´��¢�g

.,Ù5�IO.�

y2
1 + · · · + y2

p − y2
p+1 · · · − y2

r

K ¡r� T � g . ��§ ¡p ��

. 5 � ê§q = r − p�K . 5 �

ê§s = p− q�f�ÎÒ�"
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½½½nnn8.3-2µµµ

.5�ê´¢é¡Ý
ÜÓ'X��
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Ý
�na�d'Xµ

A ∼ B ⇔ r(A) = r(B). (p.61)
A ≈ B ⇔ A�B�Ð�Ïf�Ó"

¢é¡Ý
A ∼= B ⇔ A�B�.5�
ê�Ó"

n)ÚÝºµna�d'XÚ�p�m
�éX�

|^.5½n§éé¡Ý
?1©aµ�

½!��½!K½"
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Ý
��d(�-)a:

A ∼ B ⇔ A = PBQ.

A ∼
(

Ir 0
0 0

)

n�Ý
��d(�-)©aµn + 1a"
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¢é¡Ý
�ÜÓ�da:

A ∼= B ⇔ A = C ′BC.

A ∼=

Ip 0 0
0 −Iq 0
0 0 0


n�¢é¡Ý
�ÜÓ�d©aµn(n + 1)/2a"

n�Eé¡Ý
�ÜÓ�d©aµn + 1a"
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Thank you!
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